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Data Pendulum:

g=10; % gravitasi

l=0.35; % panjang pendulum

M=0.15; % massa kereta

m=0.25; % massa pendulum
Batas-batas:

function y = batas_x(x)

B = 0.1; % batas posisi dalam m

if x >= B

    y = B;

elseif x <= -B

    y = -B;

else

    y = x;

end

function y = batas_teta(x)

S=30; % derajat

B=(pi/180)*S; % radian

if x >= B

    y = B;

elseif x <= -B

    y = -B;

else

    y = x;

end
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function y = x4dot(x)

g=10; % gravitasi

l=0.35; % panjang pendulum

M=0.15; % massa kereta

m=0.25; % massa pendulum

x3=x(1);

x4=x(2);

u=x(3);

A=m*l*x4*x4*sin(x3)*cos(x3);

B=(M+m)*g*sin(x3);

C=u*cos(x3);

D=m*l*cos(x3)*cos(x3);

E=(M+m)*l;

y=(A-B+C)/(D-E);
function y = x2dot(x)

g=10; % gravitasi

l=0.35; % panjang pendulum

x4dot=x(1);

x3=x(2);

y = (g*tan(x3)) - ((l*x4dot)/cos(x3));







